


Page 1

Important Precaution



Page 2

9.6 ft

9.
6 

ft

18.8 ft

12
 ft

20 ft

11.3 ft



Page 3

PART  LIST  ( BOX  ONE )

G5  2x

G4  2x

A   4x

C1   4x

 D1  2x

G2  2x

D5  2x

J   4x

A1  2x

 D2  2x

G6  2x

E2  4x E3  2xE1  2x

C   4x D   2x

D4  2x

D3  2x



Page 4

U  152x

Y  160x Z   72x

PART  LIST  ( BOX TWO )

Z1  16xP   6x

N1  2xN   8xM   1x

L  1xK1 6xK   4x

E   4x

J1  2xG3  2x

C3  2x

G1  2x

C2  2x

F2  4xF1  4x

F   4x

B2  2x



Page 5

M6x15

100x

1x

ST 4.8x12

12  1x

6   8x

1x

T   4x + 2x

V   6x

M6x23

3   7x

9   12x

M6x42

10   20x7   48x

T1 4x + 2x

PART  LIST  ( BOX  THREE )

W  4x V1  2x

1   330x

M6*25

1x

M6x47

13

8   16x

W1  8x

V2  2x

2

M6x10

4   28x

11

5   2x

14

V3  2x H1  4xH   4x

B1  4xB   4x



Page 6

Q4 1x   Q5 1x

R1 1x

  Q3 1x   Q6 1x

R4 1x R9 1xR12 1x

S4 1xR8 1x S1 1xR6 1x

Q4 1x   Q5 1x

Sa 1x

PART  LIST  ( BOX  FIVE )

PART  LIST  ( BOX  FOUR )

R12 1x R10 1xR1 1x

S  1x

Q2 1x   Q7 1x

S3 4x

R3 1x

Q1 1x   Q8 1x

R2 1x

S5 1x

R11 1x

R7 1x

R3 1x

R9 1x

R11 1x

R5 1x

R4 1x

  Q3 1x   Q6 1x

R10 1x

R2 1x

S2 1x

Q2 1x   Q7 1xQ1 1x   Q8 1x



Page 7

R8 1x

<1>

Sa 1x

A1 2x

J1  2x

A1

M6x15

A

1

A

J1

R6 1x

1

J

J   4x

R7 1x

1

A   4x

1

J

1    20x

1

S5 1x

S4 1xR5 1x

S3 4x

S1 1x

S2 1x

S  1x



Page 8

C   2x

P

D   2x

D1  2x

D1

1   52x

B

1

B1  2x

1

1

C

B

1

B1

1

2x

D

1

C1

P

D

B

1

<2>

1

B1

C1  2x

B

B1

P   2x

M6x15

B

D1

B1



Page 9

C1  2x

B2

1   52x B2  2x

<3>

B1  2x

C3 2x

B  2x

C2  2x

M6x15

C   2xP   4x

1

1
PB2

1C1

1

BC3
B1

1

C2
1

B2

PB1
1

B
C



Page 10

D4   2x

<4>

1

B1

D3

D3

B1

D5   2x

D2   2x

B

B2

B

1B2

1

M6x15

D3   2x

D2

D4

1

D2

D4

D5

1   44x

B2

D5

1

1

1

1



Page 11

A

8

M6x15

8   16x

B1

B2

1

B

B1

A

1   28x

1

A

B

B1

B2

88

B

B

B1

A

1

B

8

<5>

A

B2

A

B1

B1



Page 12

A

1

H

H1

H   4x

H H1

H1

H

B

M6x15

H

H1

B1
H1  4x

1   32x

H1

H

<6>



Page 13

K1

4

4   28x

K

4

K1

8x

U

U  152x

3

K

B

B1

K1

K

<7>

8x
K1 6x

K1

K

M5x12

B3

K1

B

4x

K

K
4x

V

V

3    6x

ST4.8x12

4

K1

K1

4x

7x 7x

K1

6x 1
2

3 4



Page 14

<8>

E E

1   12x

E

E

L

1

E

E

12

1

E

E

L   1x

L

E

E

A

4x

L
M6x15

E

E

12   1x



Page 15

E2  4x

M6x15

L

E3

E1

1   24x

E1

E2

E2

<9>

E3  2x

E2

E1

E2

E2

E1  2x

1
1

E3

E1



Page 16

5   2x

53
3

A1

A1

3

L

3   3x

M6x25

5

M

M  1x

<10>



Page 17

1   12x

G3

G4

1

N

G3

G6

G4

   G6  2x

G3

<11>

1

E

N   4x

G6

1

G4

1

G3 E2

E3

G6

M6x15

G4

G3 2x

G6

G4  2x

G6



Page 18

S   2x

Q2

Q6 2x

Q1

Q5 2x

Z

Z

Q8

Q7

Q6

Q5

Q4

Q3

ZZ1
Z1

Z

Z1

Z1

Sa
S

Z

Z

Sa  2x

Q4 2x

Z   or   Z1
Q3 2x

Z   or   Z1Q2 2x
Z   or   Z1

Q1 2x

<12>

Q8 2x

Z1  8x

Z   36x

Q7 2x



Page 19

S3

S3
S3

R2

R4

Z1

S4 2xS5 2x

Z1

R3

Z

Z

R1

S1 2x

R12

R7 2x

R11

R8

R7
R6

R5

R6 2x

R9 2x

R8 2x

R10 2x

R11 2x

R12 2x

R5 2x

R4 2x

R3 2x

R2 2x

R1 2x

R10

R9

Z

S3 8x

Z

Z

Z Z1

Z1

S5
S4

S3
S2

S1

Z1  8x S2 2x

Z   36x

Z   or   Z1

Z   or   Z1
Z   or   Z1

<13>



Page 20

S3

Sa

Sa

S4

<14>

S1

E

S2

S3

S3
S3

S3

S5

S

S2



Page 21

G2

    G5  2x

N

G1

G2

1

G1
E3

G5

1

G1

1

G1

E

G5

E1

G5

G5

G2

M6x15

G2

E3

<15>

E

G2  2x

N1  2x

1   12x

N1

G1  2x

G2

E2

N   4x



Page 22

F2

F2  4x

W1 8x

F1

1

<16>

F1

F1

F2

W  4x

E2

W1

F2 F2

F   4x

F1

F1 4x

F

F1

F1

F

M6x15

F

F2

F2

F1

F1

F

W

F1

E2

1   36x

F

E

F

E1

F2

E1

1



Page 23

Q7

R10 R6

R3

Q5

R5

R3

R7

R12

R9

Q1

R12

R11

Q6

Q2

Q5

R3

Q7

R12

R4

R9

Q4

<17>

R7

R4
R5 Q3

R1

Q5

Q3

Q8

R5

Q8

R9

R2

R2

Q7

R4

Q3

R1

R6

R10

R8

Q2

R10

Q8R11

Q4

Q6

R8 R7

Q2

Q6

R8

R2

R6

R11

Q1

Q1

Q4

R1



Page 24

Y

D

Q2

Q4

Q6

Q8

<18>

Y

D1

Y

F1

Q1

Q3

Q5

Q7

E1

F1



Page 25

R12

R2

R4

R6

R8

R11

R1

R3

R5

R7

Y

Y
Y

D5

D2

D4
F2

F
D3

F

F2

E2

E3

E2

<19>

R10

R9



Page 26

M6x23

M6x42

4x3

Y

Y
7   48x

M6x47

2

7

8x6

YY

M6×25

100x2

Y  160x

36

<20>

1 

1 

1 3 

3 3 
2 

2 

1 

1 

3 

3 

3 

4 

4 

4 

4 

4 

4 

2

3 4



Page 27

U

 7

T

T

 3
 7

 3
 7

T

 3

T

T

T

 4
 8

 4
 8

4x + 2x

 4

T

 1
 5

 1
 5

 1

U

 5

T

 6

T

T

 2
 6

 2
 6

<21>

 2



Page 28

T1 4x + 2x

 3

T1

T1

 3
 7

 3
 7

 4

U

T1

 4
 8

 4
 8

 5

U

T1

 1
 5

 1
 5

 1

 6

<22>

 7

T1

T1

 2
 6

 2
 6

 2



Page 29

9

V1

10
10

J1

10

9

V3 2xV2 2xV1 2x

V2

M6x10

V3

9    12x

9

10J10

10  20x

<23>

1

2
3



Page 30

4+2

4

G5

8

B2

Qty

1

2

2

2

16

1

6

2

G3

L

Part #

8

4

BOX  TWO

100

R2

A

152

1

BOX  FOUR

2

Q3

N1

4

1

2

T1

2

72

2

Q7

4

16

4

4+2

Part #

1

H1

G4

2

2

1

K1

D1

6

8

1

N

D3

2

M

Qty

Y

4

20

BOX  TWO

7

R3

Qty

Z1

D4 11

Q4

B

W1

G6 13

4

C2

2

V2E2

1

6

Q8

F1

C3

4

Qty

1

4

2

P

2

8

1

4

2

G1

1

2

2

12

1

1

BOX  ONE

2

C1

10

BOX  THREE

28

Q1E3

4

160

2

Q5

B1

1

2

2

4

4

1

4

2

C

1

7

F2

A1

V3

4

Part #

1

K

D

6

2

48

1

J1

D2

2

1

U

J

9

330

R1

Part #

Z

4

BOX  THREE

Q2

2

E

W

D5 12

3

R4

T

G2

V

E1

14

5

Q6

F

V1

H



Page 31

R12

1

R12

Q8

Sa

Sa

1

1

1

1

S5

BOX  FIVE

4

1

R9

Qty

1

R3

1

Q4

R6

1

R7

1

1

1
R8

1

1

1

1

R5

1

1

4

BOX  FIVE

1

1

S5

R10

1

1

Q1

Q5

R11

1

R11

Q6

S

1

S

R9

S1

BOX  FOUR

S1

1

S3

R6

S3

1

1

1

1

R1

1

Q2

R4

1

1

1

Q7

1

1 R10

S2

S2

1

S4

R7

S4

1

1

R8

Part #

1

R2

1

Q3

R5




